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LEADS AND SIGNALS  W B F CONVENTION CARD 
OVERCALLS (Style: Responses: 1 / 2  Level; Reopening) OPENING LEADS STYLE  
1 level can be light, lead directing, level 2 sound  Lead In Partner’s Suit CATEGORY: GREEN 
Responses – Jump Shift = Preemptive Suit 3rd and 5th  3rd and 5th  NCBO:  
Cue = F1, jump cue = 4 card support INV NT 2nd and 4th  2nd and 4th  PLAYERS : Marie Falk – Lis Alves Ferreira    
New suit = F1, jump shift = FIT Subseq   EVENT Venice Cup 2025 
 Other:  
   
1NT OVERCALL (2nd/4th Live; Responses; Reopening) LEADS SYSTEM SUMMARY 
15-17 in 2nd Lead Vs. Suit Vs. NT 
10-14 in 4th  Ace AKx(x), Ax+ A (count) GENERAL APPROACH AND STYLE 
 King AK, KQ(x)+ K (attitude) 5 card majors, 2/1 
 Queen QJ (x), Qx QJ (x), Qx 1NT=15-17 
 Jack J10 (x), HJ10(x), Jx J10 (x), HJ10(x) 1S over 1H=F1 0-4 S 
JUMP OVERCALLS (Style; Responses; Unusual NT)  10 H109(x), 1098(x), 10X J10 (x), HJ10(x), Jx 1NT over 1h = 5+ S 
Jump overcall in suit are weak – new suit F1 9 9x 9x  
Jump overcall in NT = 2-suiter with the 2 lower unbid suits Hi-X Doubleton Doubleton  
 Lo-X 3+ 3+  
Reopen:  SIGNALS IN ORDER OF PRIORITY  
DIRECT & JUMP CUE BIDS (Style; Response; Reopen)  Partner’s Lead Declarer’s Lead Discarding SPECIAL BIDS THAT MAY REQUIRE DEFENSE 
1C-2C = natural, 1D-2D = majors, 1M-2M = michaels 1 Hi-Lo = ODD Count Count 2c = FG 
1C-2D = majors Suit 2 Low = Enc Att Att Weak 2s 
 3 Suit preference Lav Lav  
 1 Low = Enc Count Att  
VS. NT (vs. Strong/Weak; Reopening;PH) NT 2 Hi-Lo = odd Lav Count  
Multi Landy 3 Suit preference  Lav  
 Signals (including Trumps): UDCA = Count and Att  
   
   
 DOUBLES  
  
VS.PREEMTS (Doubles; Cue-bids; Jumps; NT Bids) TAKEOUT DOUBLES (Style; Responses; Reopening)  
T/O Double, Michaels, LEbensohl Maybe light with classical shape, cue = F1  
 New Suit = F1  
 Reopening can be protecting  

VS. ARTIFICIAL STRONG OPENINGS- i.e. 1 or 2  SPECIAL FORCING PASS SEQUENCES 

 SPECIAL, ARTIFICIAL & COMPETITIVE DBLS/RDLS Texas over 1NT and 2NT 
 Responsible Dbl after T/O Db through 4H, after overcall through 4H  
 After Overcall, cue = inv + with support  
OVER OPPONENTS’ TAKEOUT DOUBLE Support doubles IMPORTANT NOTES 
New Suit = Nat F1 in 1 level, jump shift = non forcing  Double jump shift = Splinter 
2NT = limit raise or better   
  PSYCHICS: Rares 
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DESCRIPTION RESPONSES SUBSEQUENT ACTION 
COMPETITIVE & PASSED 

HAND BIDDING 

1  3  Nat, 11-21 Inverted minors Two Way check Back  
        

1  3  Nat, 11-21 Inverted Minors Two Way check Back  
        

1  5  Nat, 11-21 1S = 0-4 S F1, 1NT =5+S  2c = drury w/3 2d = drury with 4 
     3C = 7-9 with 4 card support, 3D same with 10-11 

3H = 0-7 with 4H 
  

1  5  Nat, 11-21 1NT = SF, same as above  2c = drury w/3 2d = drury with 4 

INT    15-17 Bal 2C = stayman, 2D/H/S/NT = transfer After 2C-2X -3C = 2nd stayman, 3D   SUPP 
slamish to the major, smolen over 2D 

t/o dbl level 2, transfer level 3 

     3M = shortness with both m, Level 4 Texas   

2 x 0  FG 2D = 0/1 control, 2H = 2controls, 2S= 3controls, 
2ST=4 controls, 3C= 5 controls 

After 2 Level = 2NT = Bal 23+, suit = Nat After int – Dbl=0-5 Pass 6+ 

      After 3 level = natural After dbl – rdbl = 0-5, Pass 6+ 

2  5  Pre 2NT = ask, new suit = nat 3c = min, other max  

     New suit = nat f1   

2  5  Pre 2NT = ask, new suit = nat 3c = min, other max  

     New suit = nat f1   

2  5  Pre 2NT = ask, new suit = nat 3c = min, other max  
     New suit = nat f1   
2NT    20-22 Bal 3C=puppet 3D/H = transfer, 3S=both m   
     Level 4 = Texas transfer   

3  6  Pre Nat   

3  6  Pre Nat   
3  6  Pre Nat   

3  6  Pre Nat   

        
3NT    Gambling = solid minor suit    
        

4  7  Pre Nat   

4  7  Pre Nat   
4  7  Pre Nat   
4  7  Pre Nat   
4NT    Minors at least 6-6 Nat   

5  8  Pre Nat HIGH LEVEL BIDDING 

5  8  Pre Nat 1430, cue, splinter exclusion, 5NT over 4NT=show 1/3KC with void, 6x over 4NT 
= 2KC with a void 

5  8  Pre Nat  
5  8  Pre Nat  
       
       
       


